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Q. 1: In the context of economy, which 

one of the following best describes the 

term ‘double deflation’? 

A. A period of two consecutive 

quarters of deflation in the 

economy, resulting in a recession. 

B. A period of two consecutive 

quarters of fall in real Gross 

Domestic Product (GDP) growth. 

C. A technique to measure Gross 

Value Added (GVA) at constant 

prices by subtracting intermediate 

consumption from output. 

D. A period of simultaneous deflation 

in the domestic and global 

economy. 

Q. 2: Consider the following statements: 

1. Dharma Sabha was founded by 

Radhakanta Deb. 

2. Dharma Sabha is a liberal society. 

Which of the statements given above 

is/are correct? 

A. Only 1 

B. Only 2 

C. Both 1 and 2 

D. Neither 1 nor 2 

Q. 3: Consider the following statements: 

1. For the first time, Congress passed 

a resolution at the Nagpur 

Congress Session (1920) asking the 

princes to grant a full responsible 

government in the State. 

2. In this period, there was a formal 

relation between INC and local 

Praja Mandals existed which paved 

the way for more intense 

mobilisation patterns in the states 

in subsequent phases. 

Which of the statements given above 

is/are correct? 

A. Only 1 

B. Only 2 

C. Both 1 and 2 

D. Neither 1 nor 2 

Q. 4:  Consider the following statements 

about Tripuri session (1939): 

1. Bose won re-election as INC 

president. 

2. The Congress passed a resolution 

facilitating the integration of the 

political struggle in the princely 

states and the rest of India. 

Which of the statements given above 

is/are correct? 

A. Only 1 

B. Only 2 

C. Both 1 and 2 

D. Neither 1 nor 2 

Q. 5 : Consider the following statements 

about ; 

1. In 1947, the last Nizam of the 

princely state of Hyderabad, 

refused to join India and decided 

to have an independent state. 

2. The Indian Army started the 

operation Polo and finally the 

Nizam surrendered in September 

1948. 

Which of the statements given above 

is/are correct? 

A. Only 1 

B. Only 2 

C. Both 1 and 2 

D. Neither 1 nor 2 

Q. 6:  Consider the following statements: 
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1. The growth of socialist tendency in 

the national movement led to the 

foundation of the Congress 

Socialist Party in 1934 under the 

leadership of Acharya Narendra 

Deva and Jayaprakash Narayan. 

2. In 1936, Jawaharlal Nehru urged 

the Congress to accept socialism as 

its goal and to bring itself closer to 

the peasantry and the working 

class. 

Which of the statements given above 

is/are correct? 

A. 1 only 

B. 2 only 

C. Both 1 and 2 

D. Neither 1 nor 2 

Q. 7: Winter rainfall received by the 

Mediterranean region is the result of 

A. Shifting of pressure belts 

B. Low pressure belt occurs over the 

Mediterranean region during the 

winter season due to shifting of 

pressure belts 

C. Winds blow from the 

Mediterranean sea towards land 

D. Orographic rain developed on the 

windward slope of the Alps 

Q. 8 : Which Fundamental Duty of the 

Indian Constitution emphasizes the 

promotion of harmony and the spirit of 

common brotherhood among all the 

people of India? 

A. Article 51A(a) 

B. Article 51A(e) 

C. Article 51A(h)   

D. Article 51A(j) 

Q. 9 : Find the correct chronology  of the 

following Viceroys  of India : 

1. Lord Canning  

2. Lord Elgin  

3. Lord Lawrence  

4. Lord Mayo 

Option; 

A. 1-2-3-4 

B. 2-3-4-1 

C. 3-1-2-4 

D. 1-4-2-3  

Q. 10 : Regional Anti-Terrorist Structure 

(RATS), is a standing body of which one of 

the following organizations? 

A. United Nations (UN) 

B. Shanghai Cooperation 

Organisation (SCO) 

C. Association of Southeast Asian 

Nations (ASEAN) 

D. Regional Comprehensive Economic 

Partnership (RCEP) 

Q.11: The Balem Declaration was adopted 

at the  

A. Amazon Summit 

B. Rio Summit 

C. Kathmandu Summit 

D. Nairobi Summit 

Q. 12 : The Aspirational District 

Programme was launched by which of the 

following organizations? 

A. Prime Minister's Office 

B. NITI Aayog 

C. Department of Internal affairs 

D. Ministry of Environment and 

Forests 

Q. 13 :  Just Energy Transition Partnership 

(JETP), an initiative to  

A. accelerate phasing out of coal and 

reducing emissions. 



Prelim Test Series Program 2024     
 

 4 Published by: OPSC STUDY [ Contact at: 9348274675 (Telegram/ WhatsApp)]    Website: www.opscstudy.com 
 

 

B. accelerate phasing out of CFCs and 

HFCs emissions. 

C. promote solar renewable energy  

D. accelerate production of all 

renewable energy 

Q. 14: Pro-Active Governance and Timely 

Implementation (PRAGATI), is set up 

under the: 

A. Department of Personnel and 

Training, Union Ministry of 

Personnel, Public Grievances and 

Pensions 

B. NITI Aayog 

C. Cabinet Secretariat 

D. Prime Minister’s Office 

Q. 15 : Which of the following is not a 

component of Pradhan Mantri Awas 

Yojana? 

A. Affordable Housing in Partnership 

B. Credit Linked Subsidy 

C. Enhancement and construction of 

beneficiary led house 

D. In-Situ and Ex Situ Redevelopment  

Q.16: With reference to Non-Basmati 

White Rice, which of the following 

statements is/are correct? 

1. Recently, government of India 

‘prohibits’ export of non-basmati 

white rice. 

2. Non-Basmati White Rice 

constitutes about 50% of total rice 

exported from the country.   

Select the correct answer using the code 

given below: 

A. 1 only  

B. 2 only 

C. Both 1 and 2  

D. Neither 1 nor 2 

Q. 17 :  ‘Operation AAHT’ recently seen in 

the news, is related to 

A. Relief Mission to Turkey 

B. Anti-Narcotics Operation 

C. Seize control of the Siachen Glacier 

D. Curb human trafficking 

Q. 18 : With reference to Western Ghats, 

which of the following statements is/are 

correct? 

1. It is a long mountain chain which 

covers an area under Five states of 

India. 

2. K Kasturirangan committee report 

classified 64 percent of the 

Western Ghats as Ecologically 

Sensitive Zones. 

Select the correct answer using the code 

given below: 

A. 1 only  

B. 2 only 

C. Both 1 and 2  

D. Neither 1 nor 2 

Q. 19: The term ‘Dark Pattern’ is often 

seen in the news, it is related to which of 

the following? 

A. Dark Matter  

B. Terrorism 

C. Online Advertising  

D. Organ Trafficking 

Q. 20 : What is the name of the type of 

electricity tariff which includes lower tariff 

during daytime and higher rates during 

peak hours? 

A. Differential time-based tariff 

B. Dynamic Electricity tariff 

C. Static Electricity Tariff 

D. Peak power Tariff 
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Q. 21 : With reference to Osmosis, 

consider the following statements: 

1. It is the movement of molecules of 

solvent from a region of its higher 

concentration to a region of its 

lower concentration. 

2. It is observed in living cells and 

tissues of all organisms. 

Which of the statements given above 

is/are correct? 

A. 1 Only 

B. 2 Only 

C. Both 1 and 2 

D. Neither 1 nor 2 

Q. 22 : ‘Sagar Parikrama’, recently seen in 

news, is an initiative of which of the 

following Union Ministry? 

A. Ministry of Fisheries, Animal 

Husbandry & Dairying 

B. Ministry of Agriculture 

C. Ministry of Rural Development 

D. None of the above 

Q. 23 : What is the "cloud burst"? It is 

A. the states of sky with respect to 

clouds 

B. the disintergration of a huge cloud 

mass 

C. an abnormal heavy downpour of 

rain 

D. breaking up of clouds by high 

mountain ranges 

Q. 24 : If the law made by a State 

Legislature on a subject in the Concurrent 

List is inconsistent with a Union law, then 

such a law of the State Legislature is 

A. ultra vires 

B. repugnant 

C. unconstitutional 

D. void ab initio 

Q. 25 : Consider the following statements: 

1. The right to freedom of movement 

as envisaged under Article 19. 

2. The right to move out of the 

country is envisaged in 

constitution. 

Which of the above statements is/are 

correct? 

A. 1 only 

B. 2 only 

C. Both 1 and 2 

D. Neither 1 nor 2 

Q. 26 : In which treaty the 3rd  Anglo-

Mysore War ended? 

A. Treaty of Shrirangapatnam  

B. Treaty of Madras 

C. Treaty of Mysore 

D. Treaty of Purandhar 

Q. 27 : The Ministers of the Union shall 

hold office during the pleasure of the 

A. President of India 

B. Prime Minister 

C. Speaker of Lok Sabha 

D. President of the Political Party 

enjoying majority in the Lok Sabha 

Q. 28 : “Global Forest Watch” research 

was recently established by which of the 

following? 

A. Food and Agriculture Organisation 

(FAO) 

B. International Union for 

Conservation of Nature (IUCN) 

C. World Resources Institute (WRI) 

D. The United Nations Environment 

Programme (UNEP)         

Q. 29 : With reference to the Western 

Ghats, Consider the following statements: 
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1. The Ghats runs through the States 

of Kerala, Maharashtra and 

Gujarat only. 

2. They are recognized as one of the 

world’s eight ‘hottest hotspots’ of 

biological diversity. 

How many statements given above are 

correct? 

A. 1 only 

B. 2 only 

C. Both 1 and 2  

D. Neither 1 nor 2 

Q. 30 : Baltic sea is not surrounded by 

which of the following countries? 

A. Lithuania  

B. Sweden 

C. Belarus  

D. Poland 

Q. 31 : The major constituent elements of 

the mantle is 

A. SIAL 

B. SIMA 

C. NIFE 

D. Iron and silica 

Q. 32 : Consider the following statements: 

1. Dissolved Oxygen (DO) is a 

measure of the amount of free 

oxygen available in river systems. 

2. The higher value of Biochemical 

Oxygen Demand (BOD) indicates 

low DO content of water. 

Which of the statements given above 

is/are correct? 

A. 1 only  

B. 2only 

C. Both 1 and 2  

D. Neither 1 nor 2 

Q. 33 : With reference to the "EL-NINO", 

which of the following statement/s is/are 

correct? 

1. El - Nino involves appearance of 

warm current of the coast of Peru 

in eastern pacific. 

2. This warm current increase the 

temperature of water on the 

Peruvian coast by 10'C there by 

increasing the amount of Plankton 

in the sea. 

Which of the statements given above 

is/are correct? 

A. 1 only  

B. 2 only 

C. Both 1 and 2  

D. Neither 1 nor 2                  

Q. 34 : Which of the following statement 

is true? 

A. Ocean salinity is maximum at the 

Tropic of Cancer and Capricorn. 

B. Tide comes on the earth every day 

after exactly 12 hours 30 minutes. 

C. Benguela current is a cold current 

of the Pacific Ocean. 

D. If the sun, the earth and the moon 

are in a straight line then this 

situation is the situation of small 

tide. 

Q. 35:  Which of the following reports are 

published by the United Nations 

Environment Programme (UNEP)? 

1. Emission Gap Report 

2. Global Environment Outlook 

3. Invest into Healthy Planet 

Select the correct answer using the code 

given below: 

A. 1 and 3 only  

B. 2 and 3 only 
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C. 1 and 2 only  

D. 1, 2 and 3 

Q. 36 : Consider the following statements: 

1. Volatile Organic Molecules (VOCs) 

are carbon containing chemicals 

released by vehicular emissions 

only. 

2. The majority of the VOCs are 

carcinogenic. 

Which of the statements given above 

is/are correct? 

A. 1 only  

B. 2 only 

C. Both 1 and 2  

D. Neither 1 nor 2 

Q. 37: Non-conventional energy sources 

are those energy sources, that are - 

A. Produced from heat  

B. Produced from electricity 

C. Non-renewable  

D. Renewable 

Q. 38 :  Natural resources should be used 

by the present generation in such a way 

that if there is minimum degradation of 

natural resources, then what kind of 

development would it be called? 

A. Economic Development 

B. Organic Development  

C. Social Development  

D. Sustainable Development 

Q. 39 : With reference to the ‘Arya Samaj 

Movement’, consider the following 

statements: 

1. The headquarters of the Arya 

Samaj were established at Lahore 

by Dayananda Saraswati. 

2. The Arya Samaj started the 

shuddhi movement. 

Which of the statements given above 

is/are correct? 

A. 1 only  

B. 2 only 

C. Both 1 and 2  

D. Neither 1 nor 2 

Q. 40: Consider the following statements 

with respect to Strategic Petroleum 

Reserves (SPR) in India - 

1. Underground rock caverns are 

developed through excavation 

whereas salt caverns are 

developed by the process of 

solution mining. 

2. Oil Absorbency is high in rock 

cavern-based reserves compared 

to salt-based cavern reserves. 

Which of the statement(s) given above 

is/are correct? 

A. 1 only 

B. 2 only  

C. Both 1 and 2 

D. Neither 1 nor 2 

Q. 41: TP Rajendran Committee was 

recently constituted for which of the 

following purposes? 

A. Reviewing to the objections of 

industry on the ban of harmful 

pesticides. 

B. Recommendation on Small scale 

industries and Trade Policy. 

C. Recommendation on Public Sector 

Banking Reforms in India. 

D. To prepare the professional 

engineers bill. 

Q. 42:  Consider the following statements 

regarding the inflation targeting in India:  

1. The aim of inflation targeting is to 

keep inflation rates as low as possible. 
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2. The RBI solely decides the inflation 

rates to be achieved in India. 

Which of the statements given above is/ are 

correct ? 

A. 1 only 

B. 2 only 

C. Both 1 and 2 

D. Neither 1 nor 2 

Q. 43: Which one of the following 

statements most appropriately defines 

‘Refined Core Inflation’? 

A. It involves a high range of price 

increase of goods and services 

over a very short span of time. 

B. It is used to measure and quantify 

the amount of bonus brought by 

inflation to the borrowers. 

C. It is a situation in an economy 

when inflation and unemployment 

both are at higher levels. 

D. It is a type of inflation which 

excludes main fuel and food items 

from the headline retail inflation. 

Q. 44: Consider the following statements: 

1. In humans the genome consists of 

23 pairs of chromosomes. 

2. Chromosomes are located only in 

the Nucleus of the cell. 

Which of the statements given above 

is/are correct? 

A. 1 only  

B. 2 only 

C. Both 1 and 2  

D. Neither 1 nor 2 

Q. 45: Consider the following statements, 

with reference to the Carbon Border 

Adjustment Mechanism (CBAM): 

1. Its primary objective is to avert 

‘carbon leakage’. 

2. CBAM will initially apply to imports 

from the Chemical and Textile 

sector. 

Which of the statements given above 

is/are correct? 

A. 1 only  

B. 2 only 

C. Both 1 and 2  

D. Neither 1 nor 2 

Q. 46:  Parakh initiative recently seen in the 

news, is related to which of the following 

fields? 

A. Education 

B. Defence 

C. Fertilizer subsidy  

D. Cybersecurity 

Q. 47: What is SAKSHAM that has been 

launched recently? 

A. Scheme by the Ministry of Skill 

Development and 

Entrepreneurship for marginalized 

people. 

B. Saving Account scheme for women 

at higher interest rates in the Post 

Office. 

C. A dedicated and unified platform 

that will provide training and 

medical education in online mode. 

D. None of the Above            

Q. 48:  Recently launched “75/25 initiative” is 

related to which one of the following? 

A. To screen and put 75 million people 

with hypertension and diabetes on 

standard care by 2025. 

B. To cover 25% of the population of the 

country with a universal social 

security system by 2075. 

C. To reduce the percentage of 

unemployment upto 75% by 2025. 

D. To reduce Emissions Intensity of 

India’s GDP by 25 % by 2075. 
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Q. 49: Recently seen in the news, the First 

Movers Coalition has been launched by 

which one of the following organisations? 

A. World Bank 

B. World Trade Organisation 

C. Worldwide Fund for Nature 

D. World Economic Forum        

Q. 50:  Which of the following National 

Parks in India is often compared to the 

Grand Canyon National Park of the United 

States of America and is home to one of 

the rarest animals in the world - the 

Lesser Panda.? 

A. Balpakram National Park 

B. Satpura National Park 

C. Nanda Devi National Park 

D. Neora Valley National Park 

Q. 51: Which of the statement is true? 

A. Benthic refers to the floor of the 

sea and benthos refers to plants 

and animals that live there. 

B. Benthos refers to the floor of the 

sea and benthic refers to plants 

and animals that live there. 

C. Benthos refers to the flora of the 

sea and benthic refers to animals 

that live there.  

D. Benthos and benthic both refer to 

animals that live there. 

Q. 52: Match the following Schedules and 

subjects they deal with; 

1. Schedule 3 - Oath and affirmation

  

2. Schedule 4 - Seats allotted to Rajya 

Sabha  

3. Schedule 5 - Division of Powers  

4. Schedule 8 - Languages 

How many pairs given above is/are 

correctly matched? 

A. Only one pair 

B. Only two pair 

C. Only three pair 

D. All the four pair 

Q. 53: Consider the following statements; 

1. The word 'cabinet' was not apart 

of the original constitution, it was 

added in 1978 by the 44th 

constitutional amendment act. 

2. 'Ministers ' as a member of the 

council of ministers, but does not 

include deputy ministers. 

 The correct statement/s is/are; 

A. 1 only 

B. 2 only   

C. Both 1 and 2 

D. Neither 1 nor 2 

Q. 54: A 'breath test' used by traffic police 

to check drunken driving uses 

A. Potassium dichromatic-sulphuric 

acid 

B. Turmeric on filter paper 

C. Silica gel coated with silver nitrate 

D. Potassium permanganate-

sulphuric acid 

Q. 55: Consider the following statements 

regarding the ' Global Compact for 

Migration' (GCM); 

1. The Global Compact for Migration 

is the first-ever UN global 

agreement on a common approach 

to international migration in all its 

dimensions 

2. GCM is legally binding 

The correct statement/s is/are 

A. 1 only  

B. 2 only  

C. Both 1 and 2 



Prelim Test Series Program 2024     
 

 10 Published by: OPSC STUDY [ Contact at: 9348274675 (Telegram/ WhatsApp)]    Website: www.opscstudy.com 
 

 

D. Neither 1 nor 2 

Q. 56:  Which one of the following is not 

one of the functions performed by the 

Indian Computer   Emergency Response 

Team (CERT-In)? 

A. Collection, analysis and 

dissemination of information on 

cyber incidents   

B. Forecast and alerts of cyber 

security incidents 

C. Coordinating with international 

private cyber agencies 

D. Emergency measures for handling 

cyber security incidents 

Q. 57:  Which of the following are the 

ideal conditions for the growth of corals? 

1. Optimal sea water temperature 

between 23°–29° Celsius. 

2. Abundance of plankton. 

Select the correct answer using the code 

given below. 

A. 1 only  

B. 2 only  

C. Both 1 and 2 

D. Neither 1 nor 2 

Q. 58: Consider the following statements;  

1. The constitution of India doesn't 

declare the location of the seat of 

the Supreme Court. 

2. CJI can appoint other places as the 

seat of the Supreme Court only 

after the   approval of the 

President. 

The correct statement/s is/are 

A. 1 only  

B. 2 only  

C. Both 1 and 2 

D. Neither 1 nor 2 

Q. 59: Consider the following statements;  

 Assertion (A): Altruistic surrogacy involves 

no monetary compensation to the 

Surrogate  mother.  

 Reason (R): Only medical expenses and 

insurance coverage during the pregnancy 

are given. 

Choose the correct one 

A. Both A and R are true, R is the 

correct explanation of A   

B. Both A and R are true, R is not the 

correct explanation of A 

C. A is true but R is false 

D. A is false but R is true 

Q. 60: Which of the following quantity 

remains constant when an artificial 

Satellite revolves round the Earth in 

circular orbit? 

A. Linear Velocity  

B. Angular Frequency   

C. Angular Momentum 

D. Angular Displacement 

Q. 61: Which of the statements given 

below is incorrect: 

A. Tolkappiyam is the work on Tamil 

grammar. 

B. The Hathigumpha inscription of 

Kharavela of Kalinga mentions 

about Tamil kingdoms during 

sangam age. 

C. The Cheras ruled over parts of 

modern Kerala. 

D. Silappathikaram was written by 

SittalaiSattanar.    

Q. 62: Which of the following statements 

is not a correct reason for the spread of 

Jainism in Ancient India? 

A. Extension of royal patronage. 
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B. Use of commonly spoken language 

like Prakrit to preach their 

message. 

C. Establishment of monastic orders. 

D. Strong distinction and separate 

identity from the orthodox 

Brahmanical religion 

Q. 63: Which of DO NOT participate in the 

process of election of President of India? 

1. Nominated members of both 

houses of Parliament  

2. Nominated members of Legislative 

assemblies  

3. Elected members of legislative 

councils.  

4. Elected members of UT legislative 

assemblies.   

How many statements given above is/are 

correct? 

A. Only one statement 

B. Only two statements 

C. Only three statements 

D. All the four statements 

Q. 64: Consider the following statements 

about 'the Charter Act of 1813 ': 

1. It ended the trade monopoly of 

the East India Company in India 

except for trade in tea and trade 

with China.  

2. It asserted the sovereignty of the 

British Crown over the Indian 

territories held by the Company.  

3. Christian Missionaries were 

allowed to enter in India 

Which of the statements given above are 

correct? 

A. 1 and 2 only  

B. 2 and 3 only 

C. 1 and 3 only 

D. 1 , 2 and 3  

Q. 65: Consider the following statements: 

1. Unlike the Rajya Sabha Chairman, 

the Speaker of Lok Sabha cannot 

suspend a member without 

adopting a motion for suspension. 

2. While the Rajya Sabha Chairman is 

empowered to place a member 

under suspension, the authority 

for revocation of this order is not 

vested in him. 

Which of the above statements is/are 

incorrect?  

A. 1 only  

B. 2 only  

C. Both 1 and 2 

D. Neither 1 nor 2 

Q. 66: The Incremental Model of Policy 

making process was propounded by 

A. James Anderson  

B. Charles Lindblom  

C. Robert Haveman  

D. Etzioni 

Q. 67: Arrange officials based on the 

Order of Precedence.  

1. Chief Election Commissioner  

2. Holders of Bharat Ratna 

decoration. 

3. Attorney General 

4. Chief of Staff holding rank of 

General.  

The correct order is 

A. 2-1-3-4  

B. 1-2-3-4  

C. 2-1-4-3  

D. 1-2-4-3  
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Q. 68: The early medieval Saint Basavanna 

belonged to: 

A. Vaishnava Tradition  

B. Saiva Tradition 

C. Virasaiva Tradition 

D. None of the above 

 

Q. 69: Which of the following statements 

regards 'non-Fungible token' are correct? 

1. Everything from drawings, photos, 

videos, GIFS, music, in-game items, 

selfies, and even a tweet can be 

turned into Non-Fungible Tokens.  

2. NFT can be traded and exchanged 

with the use of blockchain 

technology. 

Choose the correct answer. 

A. 1 only   

B. 2 only  

C. Both 1 and2   

D. Neither 1 nor 2 

Q. 70: Consider the following statements 

regarding the purification of water; 

1. Chlorine kills pathogenic bacteria 

but it does not affect spores and 

hepatitis and jaundice viruses.  

2. Ozone removes all chlorine and 

inactivates viruses very quickly.  

The correct statements are; 

A. 1 only  

B. 2 only 

C. Both 1 and 2     

D. Neither 1 nor 2 

Q. 71:  According to the 105th 

constitutional amendment, consider the 

following statements;  

1. This amendment seeks to restore 

the power of state government to 

identity and  specify Socially and 

Educationally backward classes 

2. It allows states to maintain 

separate 'state list' for SEBC 

reservation 

The Correct statement/s is/are; 

A. 1 only  

B. 2 only 

C. Both 1 and 2  

D. Neither 1 nor 2                     

Q. 72: Pollination by butterflies is called 

A. Ornithophily 

B. Elelophily  

C. Myrmecophily 

D. Psychophily 

 

Q. 73: Arrange the main peaks/hills of 

Western ghats from north towards south. 

I. Doddabetta  

II. Ooty 

III. Anaimudi   

IV. Bababudan 

 

A. III, II, I, IV  

B. II, IV ,III, I  

C. I, II, III, IV 

D. IV, II, I, III 

          

Q. 74: : Consider the following statements 

regarding 'e-RUPI' ; 

1. e-RUPI is a voucher to facilitate 

cashless payment.  

2. The NPCI has boarded banks that 

will be the issuing authority for e-

RUPI voucher. 

The correct statement/s is/are 

A. 1 only  



Prelim Test Series Program 2024     
 

 13 Published by: OPSC STUDY [ Contact at: 9348274675 (Telegram/ WhatsApp)]    Website: www.opscstudy.com 
 

 

B. 2 only  

C. Both 1 and 2 

D. Neither 1 nor 2            

Q. 75: Consider the following statements; 

Assertion (A): India's telecommunication 

satellite, GSAT-31 was successfully 

launched from French Guiana. 

Reason(R): Currently India does not have a 

space-launch rocket that can lift a satellite 

weighing over 4 tons into geostationary 

orbit.   

Choose the correct one 

A. Both A and R are true, R is the 

correct explanation of A 

B. Both A and R are true, R is not the 

correct explanation of A  

C. A is true but R is false  

D. A is false but R is true 

Q. 76: Which one of the following 

processes is used for aluminium 

extraction? 

A. Hall-Heroult process  

B. Calcination  

C. Leaching  

D. Van-Arkel method 

Q. 77: Consider the following statements: 

1. Oil Shale refers to hydrocarbons 

that are trapped in formations of 

shale rock. 

2. Shale Oil is a rock that contains a 

compound called Kerogen, which 

is used to make oil. 

The correct statement/s is/are 

A. 1 only  

B. 2 only  

C. Both 1 and 2 

D. Neither 1 nor 2 

 

Q. 78: In essence, what does ‘Due Process 

of Law’ mean? 

A. The principle of natural justice 

B. The procedure established by law 

C. Fair application of law 

D. Equality before law 

Q. 79: Which of the following initiatives is 

jointly launched by the Ministry of Food 

Processing Industry, Ministry of Tribal 

Affairs and TRIFED to enhance the income 

of tribal people through better utilization 

of Minor Forest Produce ? 

A. Non Timber Forest Produces 

Marketing 

B. Van Dhan Vikas Yojana 

C. TRIFOOD scheme 

D. MSP for MFP scheme 

Q. 80 : Consider the following statement 

regarding Price Stabilisation Fund(PSF) ; 

1. It is under Ministry of Agriculture 

and farmers welfare 

2. Under the scheme strategic buffer 

on Agri Horticultural Community is 

maintained. 

Select the correct code 

A. 1 only 

B. 2 only 

C. Both 1 and 2 

D. Neither 1 nor 2 

Q. 81: Which of the following statements 

is incorrect, with reference to Off Budget 

Borrowings? 

A. It refers to the borrowings made 

by the Central Public Sector 

Enterprises on behalf of the Union 

Government. 
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B. They are counted as a part of the 

Fiscal Deficit. 

C. The interest accrued on these are 

paid entirely from the government 

budget. 

D. It reduces Parliamentary Control 

over the Executive in financial 

matters.  

Q. 82: Consider the following pairs: 

1. Primary deficit - The government’s 

own earnings is insufficient to 

meet normal functioning of 

government departments and 

provision of services. 

2. Effective revenue deficit - It shows 

how much government borrowing 

is going to meet expenses other 

than Interest payments. 

3. Monetised deficit - It results in an 

increase in the net holdings of 

treasury bills by the Reserve Bank 

of India. 

How many of the pairs given above are 

correct? 

A. None of the pairs 

B. Only one pair  

C. Only two pairs  

D. All three pairs 

 

Q. 83: Consider the following statements 

with respect to the World Economic 

Outlook (WEO), 2023: 

1. It is released by the International 

Monetary Fund (IMF) biannually. 

2. According to the report, India will 

stay the world’s fastest growing 

major economy in both 2023 and 

2024. 

Which of the above statement(s) is/are 

correct? 

A. 1 only 

B. 2 only  

C. Both 1 and 2  

D. Neither 1 nor 2  

       

Q. 84: Consider the following statements 

with respect to Securities Appellate 

Tribunal (SAT): 

1. It is a statutory body established 

under the provisions of the 

Securities and Exchange Board of 

India Act, 1992. 

2. It functions under the aegis of the 

Ministry of Corporate Affairs. 

Which of the above statement(s) is/are 

correct? 

A. 1 only 

B. 2 only 

C. Both 1 and 2 

D. Neither 1 nor 2 

 

Q. 85:  Consider the following statements 

with respect to H1B Visas: 

1. It is a non-immigrant visa that 

allows US companies to employ 

graduate level workers in specialty 

occupations. 

2. H-1B visa holders can bring their 

spouse and children only under 21 

years of age to the US under as 

dependents. 

3. Indians are at the top of the list of 

H1B visa holders in the USA. 

Which of the above statement(s) is/are 

correct? 

A. 1 and 2 only 
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B. 2 and 3 only  

C. 1 and 3 only  

D. 1, 2 and 3 

 

Q. 86:  Consider the following statements 

with respect to the Union Budget of India 

1. The Union budget is the annual 

financial statement that provides 

three big details - total receipts, 

total expenditure and fiscal deficit. 

2. The Union Budget of India is 

divided into three parts - 

consolidated fund, contingency 

fund and public account. 

Choose the correct answer from the 

following statements. 

A. 1 only 

B. 2 only 

C. Both 1 and 2 

D. Neither 1 nor 2 

          

Q. 87: Trademark can be issued for which 

of the following? 

1. Symbol 

2. Design  

3. Word 

4. Phrase 

Choose the correct answer.  

A. 1 and 2 only  

B. 1, 3 and 4 only  

C. 2, 3 and 4 only 

D. All of the above 

 

Q. 88:  With reference to Treasury Bills, 

consider the following- 

1. Ad hoc treasury bills are not 

marketable and are issued to the 

state governments. 

2. The regular treasury bills are sold 

to the banks and public and are 

freely marketable. 

Which of the statements given above 

is/are correct? 

A. 1 only  

B. 2 only  

C. both 1 and 2 

D. neither 1 nor 2 

Q. 89: With reference to Marginal 

Standing Facility (MSF), consider the 

following statements:  

1. Under MSF, banks can borrow 

overnight up to 2% of their net 

demand and time liabilities (NDTL). 

2. The MSF rate is floated as a penal 

rate by the RBI. 

Which of the statements given above 

is/are correct? 

A. 1 only  

B. 2 only 

C. both 1 and 2 

D. neither 1 nor 2 

Q. 90: Consider the following pairs are 

Correctly matched ? 

1. Kuznets curve - Direct between 

relationship income growth and 

economic growth 

2. Phillips curve - Inverse relationship 

between inflation and 

unemployment rate 

3. Laffer curve - Relation between tax 

rate and tax revenue 

Which of the pairs given above is/are 

correct?  



Prelim Test Series Program 2024     
 

 16 Published by: OPSC STUDY [ Contact at: 9348274675 (Telegram/ WhatsApp)]    Website: www.opscstudy.com 
 

 

A. 1 and 2 only  

B. 2 only  

C. 1 and 3 only  

D. 2 and 3 only 

Q. 91: In the context of banking in India, 

what is Special Mention Account? 

A. Loans that are showing early signs 

of becoming a bad asset. 

B. An account comprising only the 

high-quality assets of banks. 

C. A procedure under which money is 

given to an employee to spend for 

a specific purpose. 

D. Deposit Accounts getting special 

services and privileges by the 

banks. 

Q. 92: For which of the following goods, 

the price elasticity of demand is generally 

inelastic?  

1. Essential medical procedures  

2. Coffee  

3. Petrol/diesel  

Select the correct answer using the code 

given below:  

A. 1 and 3 only  

B. 1 and 2 only  

C. 2 and 3 only 

D. only 1 

Q. 93: Which of the following is correct 

with reference to the National Statistical 

Office?  

A. It is an autonomous body under 

the Ministry of Commerce and 

Industry. 

B. It compiles the Index of Wholesale 

Price Index (WPI) every month. 

C. It was formed on the 

recommendation of the 

Rangarajan Commission. 

D. It will be merged into National 

Sample Survey Office (NSSO) in 

2023. 

Q. 94:  Which of the following pair(s) is 

not matched correctly; 

            Name of the Revolution: Father of 

the Revolution  

1. Green Revolution in India :  M.S. 

Swaminathan  

2. Golden Revolution in India : 

Nirpakh Tutaj  

3. Yellow Revolution in India :  Dr 

Arun Krishnan 

4. Brown Revolution in India : Hiralal 

Chaudri  

Choose the option; 

A. 3 only 

B. 3 and 4 only 

C. 2 and 3 only 

D. 2, 3 and 4 only 

Q. 95: Consider the following statements: 

1. A Waqf is a charitable donation in 

Islamic law. 

2. Waqf Boards in India, created 

under the Waqf Act of 1995, 

manage Waqf properties. 

Which of the statements given above 

is/are correct? 

A. Only 1 

B. Only 2 

C. Both 1 and 2 

D. Neither 1 nor 2 

Q. 96: Which one of the following states 

has announced that the state would buy 

all crops at the Minimum Support Price 

(MSP)? 

A. Haryana 

B. Punjab 
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C. Chhattisgarh 

D. Madhya Pradesh 

Q. 97: Which one of the following states 

has become the first state in India to start 

a disaster management insurance 

scheme? 

A. Odisha 

B. Gujarat 

C. Himachal Pradesh 

D. Nagaland 

Q. 98: India's First Grain ATM Launched in  

A. Odisha 

B. Maharashtra 

C. Uttar Pradesh 

D. West Bengal 

Q. 99:  Consider the following statements 

about Paris Olympics: 

1. Aman Sehrawat won bronze medal 

in the men’s 57kg wrestling 

category. 

2. India’s men’s hockey team won 

the bronze medal at the Paris 2024 

Olympics with a 2-1 victory over 

Spain. 

Which of the statements given above 

is/are correct? 

A. Only 1 

B. Only 2 

C. Both 1 and 2 

D. Neither 1 nor 2 

Q. 100: Consider the following 

statements: 

1. In a war in 1947, Israel occupied 

East Jerusalem and the West Bank, 

as well as most of the Syrian Golan 

Heights, Gaza and the Egyptian 

Sinai peninsula. 

2. Gaza is a narrow strip of land 

sandwiched between Israel and 

the Mediterranean Sea, but with a 

short southern border with 

Lebanon. 

Which of the statements given above 

is/are correct? 

A. Only 1 

B. Only 2 

C. Both 1 and 2 

D. Neither 1 nor 2 

 


